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'pin = 'co~+ lco - '.wg'+ i ~g = -0,74 - (-2,36) = 1,62 Z 

3Mg + 2c03* (0,lM) -- 3 ~ ~ ~ '  (0,lM) + 2Co 

0,059 1 [Mg '%I3 . E~ = Eiln -7 log [cof+]2  = 1,66V 

. AG=r1FE,~,,=-961,14Kj 

a/ 

bl 

4 8 2 11 
C C A B C D B C C A D A C A B B C C D A  

9 

AH"298 (pu) = &* (SiC14) + 2 (CO) - [AH". (Si02) + 
2&. (C) + 2&. (C12)] =32,9 id 

 AS^^^^ @Ir) = AS' (Sic&) + 2 AS' (Co) - [AS' (si02) + 
2AS0 (C) + 26s' (C12)] = 226,48 ILK 

, @u) = =Pm1 - T A S ' ~ ~ ~  = -3439 id < 0 + p h h  img 
xhy ra 6 2 5 ' ~ ,  latm 

D& p h h  ung kh6ng xtiy ra AGO > 0 + & - TA SO > 0 

-- T < 145,267 K 

AGO @ir)=AG0(Si~4) + 2 AGO (CO) - [AGO (SO2) + 2AG0(c) 
+ 2AG0 (C12)] 

-- AGO (SO2) =AG0(Sic4) + 2 AGO (CO) - AGO @u) - 
2AG0(c) - 2AG0 (C12) 

-- AGO (SO2) = - 856,93 kJ/mol 
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